. 30 .
1 ( 1.1g-
em ™) (
)
Zn /g 2.0 4.0 6.0 8.0 10.0
/g 50.0 50.0 50.0 50.0 50.0
ZnS0, lg 5.0 12.0 12.0
(1) N ZnSO, N

(20 ZnSO, Zn

(3) (10+m)g Zn 50.0 ¢
12.0 g ZnSO,  Zn 2:5 =
m: 12 m=4.8, N
NN Zn o Zn
Zn ZnS0,
7ZnS0, 10.0 go Zn
ZnS0, 12.0 g o
(10+m)g Zn 50.0¢g
Zn 4.8 ¢ (10 +
m-4.8) g=(5.2+m) g 4.8¢7Zn 12.0
g ZnS0,

H(1)10.0 g.12.0 g;
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200011
448000
2) 1; ZnSOv/g
B3)(5.2 +m) g s
1.6 mol * L' nk———
2 Na,CO, 10 |
KHCO, '
100 mL 0 2 448 Zn/g
1
1 2 3
m( ) 10.3g | 1545¢ | 41.2¢g
V(€O () | 2.24L | 3.36L | 2.24L
( ) o
A. 3.0 mol * L™
B.
KHCO,
C. 20.6 g CO,
D. 1 3
HCl1
15.45:10.3=3.36:2.24 =1.5
1 2 1
2
o 41.2:10.3#2.24:2.24 3
Na,CO, KHCO,
1 2
3 o 1
10.3 g Na,CO,  KHCO,
x mol.y mol 10.3 g
co, 2.24 L x =
0.05 mol.y =0.05 mol. 41.2 ¢

Na,CO, 0. 2mol \KHCO,0.2 mol
HCI 0.3 mol.
co,

Na, CO, 1:2 KHCO, 1:1
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HCI 0. 3mol o
tALCo
3 CuO Cu
CuO N
H,S0,
/g 18 15 12 12
/g 50 50 50 60
lg 13.2 10.2 7.2 7.2
(1) CuO ?
(2) ?
50 g
3g 3¢
3g
3g
7.2 ¢ Cu CuO
Cu 10 g
7.2 ¢
Cu
o 12 g m(Cu) =7.2 ¢

m( Cu0) =12 -7.2=4.8 ¢ m( H,S0,) =5.88 g.
240% 11.76% -

4
pH =7
(g (g
) 2.40 3.51
@ 2.32 2.34
® 3.48 3.51
Q)
o 3

Mr, =2.40 +(3.51 +58.5) =40
Mr, =2.32 +(2.34 +58.5) =58
Mr, =3.48 +(3.51 +58.5) =58.
) NaOH

e 3] e
@ 3 NaOH * H,0.
1. NN 30.0 mL
(
)
/mg 255 385 459
/ mL 280 336 336
(1) ( 6@ ” “ ”
13 ” ) : :
(2) ;
(3) Mg. Al :
(4)
1.00 mol * L'
( )
(1) . $(2)1.00 mol » L'
(3)1: 1;(4)c( NaCl) =0.435 mol = L'
¢( NaAlO,) = 0.13 mol * L. ™',
2. . .
/g 10 10 20
/g 100 120 100
/g 2 2 12
(1) ;
2) FeSO, ;
3) o
1(1)80 %% ; (221.71g; (3)14 % .
( 12014 -03 - 13)



